ESTRUCTURA : GRUPO VESTI MENTA

GRUPO VESTIMENTA

Rating: Not Rated Yet
Price:

Variant price modifier:
Base price with tax:
Price with discount:
Salesprice with discount:
Sales price:

Sales price without tax:

Discount:

Tax amount:

Ask a guestion about this product

Description

Ref.

© 0 N O g B~ W NP

P T
w N P O

Titulo
GUARDABARRO DELANTERO ROJO
TORNILLO ALLEM CABEZA FRESADA M6 X 15
ARANDELA PLASTICA
Tuerca hexagonal autobloqueante M6
ARANDELA PLANA @6
SC.SOPORTE GUARDABARRO DELANTERO PINTADO
TORNILLO ALLEM CABEZA HEXAGONAL M8 X 16
ARANDELA GROWER @ 6
GUARDABARRO TRASERO PINTADO
TORNILLO CAB.HEXAGONAL M6 X 40
SOPORTE GUARDABARRO TRASERO PINTADO
TORNILLO ALLEM CAB.FRESADA M6 X 12
TORNILLO HEXAGONAL M10 X 45

R350501000R0
R300700020
R300500020
R700314040
R100306
R350501200N0
R350103910
R200306
R350502000R0
R504006
R350502201N0
R350502015
R514510

Codigo

1/


https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo vestimenta92.png

ESTRUCTURA : GRUPO VESTI MENTA

14
15
16
17
18
19
20
21
22
23
24
25
26
27
28

Titulo
ARANDELA PLANA @ 10
TUERCA HEXAGONAL AUTOB M10 X 1.25
SEPARADOR SOP.GUARD TRASERO CINCADO
SEPARADOR ANCLAJE GUARDABARRO TRAS
C.ASIENTO Z-CAP
Tornillo Allen M6x20
CATADIOPTRICO HORQUILLA
CATADIOPTRICO TUBO CHASIS
CATADIOPTRICO FAROL TRASERO
TAPA TANQUE COMBUSTIBLE
ABRAZADERA 08-12 TUBO COND COMBUSTIBLE
GUARDAPOLVO TUBO DE GIRO
SC.FENDER TRASERO PINTADO
TORNILLO ALLEM CAB FRESADA M6 X 25
KIT CALCOMANIAS P/Z-CAP ROJA

Ccodigo
R100410
101100015
350502020, TT
350502030, TT
350505000
312006
R350503000
R350503010
R350503020
R350504000
350511105
R350509000
R350512000N0
300500950
R350508000

2/


http://www.tcpdf.org

